EAST POINT SCHOOL
CLASS-VII
ONLINE CLASSES WORK PLAN -DECEMBER WEEK-4

(21.12.2020—24.12.2020)

ENGLISH
REVISION

REPORTED SPEECH

PRACTICE WORKSHEET

A. Change the following direct sentences into indirect speech. The first one has been done
for you. (1x10=10)

1. They said, “This is our book.”
— They said that was their book.

2. She said, “I went to the cinema yesterday.”
— She said

3. He said, “I am writing a test tomorrow.”
— He said

4. You said, “I will do this for him.”
— You said

5. She said, “I am not hungry now.”
— She said

6. They said, “We have never been here before.”
— They said

7. They said, “We were in London last week.”
— They said

8. He said, “I will 1 have finished this paper by tomorrow.”
— He said

9. He said, “They won’t sleep.”
— He said




10 . She said, “It is very quiet here.”
— She said

B. Change the following sentences from direct speech to indirect speech.(1X12=12)

. He said, “I have got a toothache™.
. Manu said, “I am very busy now”.
. “Hurry up,” she said to us.
. “Give me a cup of water,” he told her.
. She said, “I am going to college”.
. She said to me, “Thank you”.
. Raju said, “Gautam must go tomorrow””.
. Geetha says, “My father is an Engineer”.
9. He said, “I have passed the physical test”.
10. She said to me, “You are my only friend”.
11. ‘I'love you,” he told me
12. “Where are you going?’ Pawan asked Maya
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VIDEO LINKS:-https://www.youtube.com/watch?v=eZZzuRXapHg

https://www.youtube.com/watch?v=huOI10FEJrA

rfeare fg -
o YISl oot o Tl @ S 379 TIeh ohl T TICHI3AT o7 auTe &
o JIHASIST glel hT HROT YBT &1 cil 3eeiel 58 TIHTE T HRUT YA TadeT F S[ST §37
ERIEN
HEY & FROT A JFH AATS 81 IAT: LT AR

Tg U1 Ueh Uiy gidhr T aeirst et & 3 av & g1 et W faetiar aisa ganr
feram arar Aeteeh R & Forae eiret fect o il @ SIehY 376 cieh ohl S TCI3iT o1 auTel
gl


https://www.youtube.com/watch?v=eZZzuRXqpHg
https://www.youtube.com/watch?v=huOI1OFEJrA

TRIST e T TATT 3eich HISATSIT H #RT 3T AT| 37T IRAR S IR AT| 37h et
3 HTS Blehl Weld F| et oY glehT WoreTT =gt | I 3eTeh UTH glehT Feeh @liee o ferw
4 8T I 3ATIU ag 3det A1TAAT hr fEeeh IUR AT X Weld | I Sl a3 HIS Hr
HRATT a3 T ToIT IRAT oY 3o iot RISt T AT RAeAT eeh & &1 &Y S Uaret hr 37
Uil e aeil]

So¢ HeT 1985 H ATOIYY H Wel STl ATeN S[1aR IASERT lehT WeTed T TR THell| 38 FHT
4 Hielg I & gael-ddl, BIC Tod o AR dTel fo@rs & A1 |t 1986 7 Sog A S A
T Torm a7 3N A TS 3T 70| S AV Sogied 3R Seofeh TS TS THA o FHS oflar & dgelie
OBl YA AT &Y 27| 1988 3 A2reTel 9 & 57 @33N & foree # enfAe AT gl &
HROT ATYH &1 3T HIR Ueh ATl 16 JHifrast vfdrrst & & fore ga1m oran fowres ag 4 A wda
33T dgd 91T |

oo l-lcpléﬁ'slgd FHIR A| T AT dh &1 UG UTT | 3oThT AT AT fh Ife I gl &
TRl 8T gicr Tl 2MG 3o6 TURT T sttt 3T o THEICT| 39 3o 919 § [oh d SToR ATH
FISH IT HTEH el €1 717 §1 I] SeTel 31 §iehT ol § &7

T=TaT A1 &1 576 318 3eTeh ToIoh (HSIToT G1at T HROUT YBT &1 il 36 1o1 S8 TIHTT T HROT
39 YT H 3T g3 g EGED ﬁaﬁﬁw—ﬂw%ﬁva@ﬁmmm
Y| 3 79T IREAT Ueh 78T Tehcl A | 3w oleT 3eg IhaTd & SHd Sefent a&aT 3R 8 31f8reh
81 ST AT| 3o¢ foical 3 SIEr-orer el & Tt TuY a1 9sT 41| 388 d RS gy arv| o
T 1 SET & | I Fordll ol ohse 3 & ALl ehel | I 37T ITeAfaIal R ATHY AT # o Heprer
ERERGH

3eial ST foh HTIH ©TH T S@H dg T ATl T ceFehT TR 3N F| SeTeht T Tgell
R Uhs §5 INATST 2| 91 H 2000 7 3e@ABIS 3Tgehist TICT| T TITUH 1994 7 qUT &
T3 US W &Y IS FT Fole TIET| d16 H 1999 H HAZRISE TIHR o IdS H Ueh Fole AT
3egiel 9T foh 3o WA 9 A5 §34Ta'q’érr@ﬁrﬁﬁlﬁl

S ersel & e -
« S TTEY - HSC ol ATl
- AN - IS
- oToTa - Ay



« g — T

TSTYETH F TReA-3ITH

TaT 1. ATETTch GGahT 3TTch HeT H oIS ool hl hall Bid 39T &2 JuT Shitad| (1)

T2 2. YRS ool o STHIT T 36 AT Tl THART Selal deh ehl ATIT T T § | ST
It erecl 7 ST WL T gUIA T [92)

SR 3. BT AT o HS AT FTASTE bl faeTarar & Hermora) sl de &1 §—4eRret ool 154 |
a1 T &1 AT 82(3)

SR 4. €ATAIG I Glehl ohl STGIR el ST & | FAT? IaT @IS (3)

TaT 5. foheT fAATAT3Tt & SHRUT BTehT R T ISET Wl gl ST 82(3)

TaT 6. TG IS ST AGT foh MBI JAT 31T TTeT ShT 3TT- AT 31T Ui oo T ST IT &
HEHA &7 39T 377379 HR T3t & ST o 3R @) fAf@u]| (hots)

Tgfased geaAleY (1x8=8)

() HEY o SHROT H Toleh HSIToil &1 IAT—ITS fehdy Taem X 3menie &7
(i) TeRTeRY

(i) FEAIOT

(iii) Saer

(iv) ET&TTceh X

(@) YARTST T TAYT FHgl dIdT?
(i) 3FTE H

(i) HES &

(iii) TaShr AT aTa H

(iv) f&eelr H|



(31) TSt A foh 8 37 H ST TUSE giehl Well?
(i) <iieg aret

(ii) Y@ |ret

(iii) Arelg Irel

(iv) g Il H|

() “SITTIR 31T Elehl” hget ol ATHYTT FT &2
(i) gTehT & A5[ue

(ii) a~a Rgemar

(iii) ThT Wl H IR

(iv) glehT TA@TAaTeT|

(3) YeRTST el ITel-STTel o ToIT fohE aATEeT T TN Hld A?
(ysg

(ii) A Trsferer

(iii) PR

(iv) heT ST |

() GRS T AL TSE glehT Wedl & T shey =TT fomarm aram am?
(i) 1980

(i) 1985

(iii) 1990

(iv) 1995

(B) GRS Tohclet HETT A TGTS hl?

(i) AT

(ii) gadt

(iii) IREdT

(iv) SREdr

(ST) FERTSE TP of YARTST Pl hdl FFATTIT ThT?
(i) PR Heax

(ii) TFolT e




(iii) TIOT UCeh ST

(iv) AT TTSfohel S|

e afafafer

YReT . 31T FATIR-T3H, IFREH13 A 59 g ATeTTeh 9 3R 9=t 37 @ forel safered 1 7,
3WF IR A FAAFRT JICT FT FS T IR FY 3R ARTHR o |

MATHS

PRACTICAL GEOMETRY

GENERAL OBJECTIVES

1. Students will be able to draw a parallel line to a given line.
2. Students will be able to construct an angle by using protactor.

VIDEO LINK :
https://youtu.be/PGg2fUcVko4

PARALLEL LINES:The lines which do not meet are called parallel lines.

1. With B as the centre and a convenient radius, cut an arc on | at C and BA at D.



https://youtu.be/PGq2fUcVko4
Meet:The

2. With A as the centre and same radius as in Step 3, cut an arc EF to cut AB at G.

3. Measure the arc length CD by placing pointed tip of the compass at C and pencil tip

opening at D.
4. With this opening, keep G as centre and draw an arc to cut arc EF at H
]’.‘
A
H
E
G

«ABC and «BAH are alternate interior angles. Therefore, m || |

REVISIONWORKSHEET
PERIMETER AND AREA (1X15=15 M)

Q1.Perimeter of a rectangle of length Z and breadth 6 is
@Il+b

(b) 2 x (Z +6)

(©)3x(I+h)

d)Ixb

Q2.

Area of a square =
(a) side x side



(b) 2 x side
(c) 3 x side
(d) 4 x side

Q3.

Area of a triangle =

(a) base x height

(b) 1/ 2 x base x height
(c) 1/ 3 x base x height
(d) 1/ 4 x base x height

Q4.

The circumference of a circle of diameter d is
(a) md

(b) 2nd

(c)1/2xnd

(d) md?

Q5.

1 hectare =
(a) 10 m?

(b) 100 m?
(c) 1000 m?
(d) 10000 m?

Q6.

The area of a square plot is 1600 m?. The side of the plot is
(@40m

(b) 80 m

(c) 120 m

(d) 160 m

Q7.

The area of a rectangular field is 250 m?. If the breadth of the field is 10 m, find its length.
(@25m

(b) 50 m

(c) 100 m

(d) 125 m

Q8.

The perimeter of a square is 48 cm. Its area is
(a) 144 cm?

(b) 12 cm?



(c) 48 cm?
(d) 100 cm?

Qo.

A rectangular wire of length 40 cm and breadth 20 cm is bent in the shape of a square. The side
of the square is

(@) 10 cm

(b) 20 cm

(c) 30 cm

(d)40cm

Q10.

The area of a parallelogram of base 5 cm and height 3.2 cm is
(a) 8 cm?

(b) 12 cm?

(c) 16 cm?

(d) 20 cm?

Q11.

If the area of a parallelogram is 16 cm? and base is 8 cm, find the height.
(@ 1cm
(b) 2 cm
(c)3cm
(d)4cm

Q12.
Find the area of A ABC

(@) 1 cm?
(b) 2 cm?
(c) 3cm?
(d) 4 cm?

Q13.

The diameter of a circle is 14 cm. Find its circumference
(@) 44 cm
(b) 22 cm



(c)1lcm
(d)55cm

Q14.
The perimeter of the following figure is

// = \
/ \
\.
\‘

\
\

-« 7cm—>

(@) 27 cm
(b) 28 cm
(c) 36 cm
(d)40cm

Q15.

Which of the following is not the value of 7w ?
@22/7

(b) 7/ 22

(c) 355/113

(d) 3.14

SCIENCE
TRANSPORTATION IN ANIMALS AND PLANTS

OBJECTIVES:

e To understand the structure of human excretory system

e To be able to explain the process of excretion in humans

e Can distinguish between xylem and phloem tissues in plants
e Are able to explain the importance of transpiration

Video link: https://youtu.be/3F1n Jv c-U

https://youtu.be/slgYiTj42 E

Excretory System in Humans

Excretion
The process of removal of waste products from the cells of living organisms is called excretion.
e For human beings, the waste products are in the form of carbon dioxide, urine and faeces.


https://youtu.be/3F1n_Jv_c-U
https://youtu.be/sIgYiTj42_E

EXCRETORY SWSTER

Hidresy

Ureter

LIrinary
Bladder

Kidneys
e Our body’s main excretory organs are the kidneys.
e There is a pair of kidneys present on either side of the spine.
o Each kidney is a bean-shaped organ, reddish in colour.These harmful substances are
present in a dissolved state in water and now it is called as urine.
e Urine is excreted out of the body.
e Thus, Kidneys act as filters of our body.
Ureters
e Urine is sent from the kidneys to the urinary bladder through tubes called ureters.
Urinary Bladder
e The urinary bladder is a muscular bag where urine is accumulated and excreted from the
body through the urethra.

Dialysis

« Dialysis is the filtering of blood outside the human body using a machine, when both the
kidneys fail.

Transportation in Plants
Phloem- Phloem is the plant tissue that transports food in plants
Xylem- Xylem is the plant tissue that transports the water and other nutrients from the
roots to other parts of the plant.
Transpiration
o Transpiration is the loss of water in the form of water vapour from stomata present on
leaves.




TRANSPORTATION

P _ &
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Transport of water R T
and minerals Transport of food Transpiration

Xylem: { Phloem: Transpiration:

| The type of vascular tissue for trans- The type of vascular tissue for trons- Process of remaval of excess water in the form of
| port of water and minerals from port of food from leaves to other parts water vapour from the leaves of plants
roots to other parts of plants. of plants.
ASSIGNMENT:
1. The filtration of blood is done by (1M)
(@) heart
(b) kidney
(c) blood

(d) urethra
2. In atall tree which force is responsible for pulling water and minerals from the
soil? am)
(a) Gravitational force
(b) Transportation force
(c) Suction force
(d) Conduction force
3. Transport of water in plants takes place through (1M)
(@) xylem
(b) vascular bundle
(c) phloem
(d) None of these

What is excretion? (1m)
What are the excretory organs of the human body? (2M)

ok~



6. Name the tissue in a plant which carries: (2M)
(a) Water and minerals from roots to the leaves.
(b) Food from the leaves to the other parts of the plant.

7. What happens when both the kidneys’ of a person stop working? (3M)
8. What do you understand by ‘dialysis’? Explain. (3M)

ACTIVITY:

Take a large potato and peel off its outer skin. Cut one of its ends to make the base
flat. Now make a deep and hollow cavity on the opposite side. Fill half of the cavity
with sugar solution and mark the level by inserting a pin in the wall of the potato Put
the potato into a dish containing a small amount of water. Make sure that the level of
water is below the level of the pin. Allow the apparatus to stand for a few hours.You
would find an increase in the level of sugar solution.Discuss your observation in the
class.

SOCIAL STUDIES
Chapter — 9 Geography

Life in the Deserts

Video Link: - https://www.youtube.com/watch?v=DvNznKrgcvl

Obijective: Students will be able to understand the characteristics of Desert, and its vegetation,
wildlife and tribal people.

* Desert is an arid region characterized by extremely high or low temperatures and has scarce

vegetation.

* Depending on the temperature, there can be hot deserts or cold deserts.

» The Hot Desert-Sahara:

(i)
(i)

(iii)
(iv)
V)

(vi)

Sahara Desert in Africa is the world’s largest hot desert.

It touches 11 countries and has got gravel plains and elevated plateaus with bare
rocky surface.

The climate of Sahara is scorching hot and parch dry with temperature as high as
50°C.

The nights are freezing cold with temperature nearing zero degrees.

Vegetation in the Sahara Desert includes cactus, date palms and acacia. Camels,
hyenas, jackals, foxes, scorpions, snakes and lizards are the main animal species
found here.

Despite its harsh climate, Sahara is inhabited by various groups of people. The main
groups are Bedouins and Tuaregs.


https://www.youtube.com/watch?v=DvNznKrqcvI

(vii)
(viii)

(ix)

The oasis in the Sahara and the Nile Valley in Egypt supports settled population.

The discovery of oil is constantly transforming this region. Other important minerals
found here are iron, phosphorus, manganese and uranium.

More and more nomadic tribes are taking to city life.

» The Cold-Desert-Ladakh:

Q) Ladakh is a cold desert lying in the Great Himalayas, on the eastern side of Jammu
and Kashmir.
(i) The altitude in Ladakh varies from 3,000 m in Kargil to more than 8,000 m in
Karakoram.
(i) The area experiences freezing winds and burning hot sunlight.
(iv)  Due to high aridity, the vegetation is sparse. Groves of willows and poplars are seen
in the valleys.
(V) The animals of Ladakh are wild goats, wild sheep, yak and special kinds of dogs.
(vi)  The animals are reared as they provide milk, meat and hides.
(vii)  The population consists of either Muslims or Buddhists.
(viii) Some famous Buddhist monasteries are Hemis, Thiksey, Shey and Lamyuru.
(ixX)  In summer season, the people are busy cultivating barley, potatoes, peas, beans and
turnips.
(x) Tourism is a major activity with several tourists streaming in from within India and
abroad.
(xi)  People of Ladakh have over the centuries learnt to live in balance and harmony with
nature.
WORKSHEET
1. Answer the following questions briefly:
(a) What are the two types of deserts found in the world? (1)
(b) In which continent is the Sahara desert located? @)
(c) What are the climatic conditions of the Ladakh desert? (1)
(d) Which National Highway connects Leh to Kashmir valley and through which pass? (1)
(e) What type of clothes the people of the Sahara Desert wear? (1)
() Name the trees that grow in Ladakh. @)
(9) Name the two nomadic tribes living in the Sahara Desert. (1)
(h) Why there is little rainfall in the Ladakh desert? @)
(i) Name some famous monasteries of Ladakh. (2)
(J) How many countries are touched by the Sahara Desert? Name them. (3)
(k) What are the characteristic features of a desert? (3)
(1) Mention the summer and winter activities of the people of the Ladakh desert. (3)
(m) What mainly attracts tourists to Ladakh? (3)
(n) Describe the flora and fauna found in: - (4+4=8)

1) the Ladakh Desert
2) the Sahara Desert



2. Tick the correct answer: (1X6=6)
(i) Sahara is located in which part of Africa?

(a) eastern (b) northern (c) western.
(if) Sahara is what type of dessert?
(a) cold (b) hot (c) mild.

(iii) The Ladakh desert is mainly inhabited by ...........

(a) Christians and Muslims

(b) Buddhists and Muslims

(c) Christians and Buddhists.

(iv) Deserts are characterized by .................

(a) Scanty vegetation (b)heavy precipitation (iii) low evaporation.
(v) Hemis in Ladakh is famous ..................

(a) temple (b) church (c) monastery.

(vi) Egypt is famous for growing

(a) wheat (b) maize (c) cotton.

@. 3. Match the following:

() Oasis (a) Libya
(i) Bedouins (b) Monastery
(iif) Oil (c) glacier
(iv) Gangri (d) depressions with water
(v) Lamayura (e) cold desert
(f) Sahara

4. Give reasons(3 M)

1. There is scanty vegetation in the deserts.
2. People of the Sahara Desert wear heavy robes.

Activity: -

1. On the outline map of Africa, mark all the 11 countries that touches the Sahara
Desert.

2. Research Activity: - Collect the information about the tribal people (Bedouins and
Tuaregs) of Sahara Desert and write in your History Notebook.
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3. (1*5)

(%)?ﬂﬂm e: wEu 9fg: Fwaq gl
(@) 7=l §dl: ITHRAUY HATT=sfd|

(1) FHFA: Tdl: FEE FEfl

(9) Jedsd: WEai SEE dar: o @l
(T) SI: FehiE vy faesmed ¥+ <& fl

4. (2*5)



gt

B T

R Y

B T

B Y



